PARTS LIST / LISTE DES PIECES / LISTA DE PIEZAS
ITEM NO./NO D'ARTICLE./JARTICULONO: DS-D030003-460

DESCRIPTION/ LA DESCRIPTION/ DESCRIPCION: Wood Frame Accent Chair in Brown/ Fauteuil décoratifs/ Silla decorativa

= T
© ©)

®

v
¢

x1 Chair Back x1 Chair Seat x1 Front stretcher* x1 LeftArm*
x1 Dossier de chaise x1 Siége de chaise x1 Barreau avant x1 Accoudoir gauche
x1 Respaldo de silla x1 Asiento de silla x1 Travesaifio delantero x1 Brazo izquierdo

o ]

x1 Right Arm *
x1 Accoudoir droit
x1 Brazo derecho

@

(o)

e[

x9 Allen bolt (M6 x SOmm)* x2 Allen bolt (M6 x 80mm) SK x11 Spring Washer M6 3 x3 Flat Washer M6 3K
x9 Vis a tete creuse hexagonale (M6 x 50mm) x2 Vis a tete creuse hexagonale (M6 x 80mm) x11 Rondelle a ressort M6 x3 Rondelle Plate M6
x9 Perno Allen (M6 x 50mm) x2 Perno Allen (M6 x 80mm) x11 Arandela auto-bloqueante M6 x3 Arandela Plana M6

- =
®

@ ©

x1 Allen Wrench * x2 Nut * x8 Wooden Button 014mm*
x1 Cl¢é Hexagonale x2 Ecrou x8 Botén de madera @14mm *Replaceable Part
x1 Llave Allen x2 Tuercas x8 Bouton en bois @14mm

Page 1 of 3/ Page 1 sur 3/ Pagina 1 de 3 Made in Malaysia / Fabriqué au Malaisie / Hecho en Malasia

For assembly instruction video, please go to: www.myfurnitureinstructions.com



ASSEMBLY INSTRUCTIONS/ NOTICE DE MONTAGE/ INSTRUCCIONES DE MONTAJE
ITEM NO./NO D'ARTICLE./JARTICULONO: DS-D030003-460

DESCRIPTION/ LA DESCRIPTION/ DESCRIPCION: Wood Frame Accent Chair in Brown/ Fauteuil décoratifs/ Silla decorativa

i
3

----------

Important Note: Part L (Flat-bottomed Wooden Screw Cap Covers) are optional. If installed, they
should be placed over exposed screw hole wells, covered with a cloth to protect chair paint/finish during
installation, and gently hammered into place with a rubber mallet.

Page 2 of 3/ Page 2 sur 3/ Pagina 2 de 3

Made in Malaysia / Fabriqué au Malaisie / Hecho en Malasia
For assembly instruction video, please go to: www.myfurnitureinstructions.com



REPLACEABLE PART / PARTIE REMPLACABLE / PARTE REEMPLAZABLE

ITEM NO./NO D'ARTICLE./JARTICULONO: DS-D030003-460

DESCRIPTION/ LA DESCRIPTION/ DESCRIPCION: Wood Frame Accent Chair in Brown/ Fauteuil décoratifs/ Silla decorativa

e

x1 RDS-D030003-1-STRE %k

Front stretcher
Barreau avant
Travesaifio delantero

]

T

x1 RDS-D030003-1-ARMR 3k

Right Arm
Accoudoir droit
Brazo derecho

_QJ (e
I @ (A { (

x1 RDS-D030003-1-HWKI ¥
Hardware Kit

Liste Des Pi¢ces De quincaillerie
Lista del kit de materiales

[

== ]

x1 RDS-D030003-1-ARML 3K

Left Arm
Accoudoir gauche
Brazo izquierdo

1O,

x2 RDS-D030003-1-NUT 3K

Nut
Ecrou
Tuercas

=

x8 RD030003-1-CAP K

Wooden Button @14mm
Botén de madera @14mm
Bouton en bois @14mm

*Replaceable Part

Page 3 of 3 / Page 3 sur 3/ Pagina 3 de 3

Made in Malaysia / Fabriqué au Malaisie / Hecho en Malasia

For assembly instruction video, please go to: www.myfurnitureinstructions.com



	Page 1
	Page 2
	Page 3

